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/��������	��V, 30 V����������V����������W]
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������I2  = 1 A.
/�������� �$����������$����������V]
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28.
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30.

31.
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	�������������R1 = 10 $�����R2 = 20 $�������������������������������������������-

���������
����������
�V = 60 V�����������


���
������	��

���������
����������
����������	�������������
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/��������3��$��������������������V, 40 V,  (���4����J]
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VAB = 5 V.

�� ��������������������
�

�

�

�

����������������������	�������������

���������
�������R1 ����R2, ���
� ����	��

���������
������������
���������R�����	��$�

/��������	�V�������
�

�

�

�

�

�
= �������
1 = 10�$��
2 = 2�$]
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���������
������������������������-
�����
� �����
� �� ������	
��������������
�
�
�

�
� �������� ����
���	�V, ���� �	���	�
���� ���-
��	�(1)�����(2)�������
�����.

�����
�������
���������
�������	�
����*

�� �������
�������
�����������������
��������	�-

����� (2)������� � mm2,������������ ����
������ �
�
���������������
��������	�
�����(1);

/����������)$����)$���������mm2]

�����������������
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�R �������������������������������������������������-
���
���������
���������
�V = 30 V, 
�������������	����������������������������


��P = 30 W.
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�R �������������
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���������� ���	������������������,�������������������������������	�
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���������
�����
 V.

/��������	��$��������4��W]
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������
����	�������������������
������������
����
�������������������� ���*

!�������
������
�������������������
�������������

/��������3��$������������������4���0
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33.
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35.

36.
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V = 6 V
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2

0 V (Volt)
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���
�������
�������	
������������������
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�

/����������$����$�������3�m, 2 m]
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�
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�
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����������
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1.

/�����������$�����������$0
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���������+
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�������������������������
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�����������

ii)  ��������������������������������������������������������������������

iii) �����������������
����	����� ��� � �≤ ≤ .
iv) ������������������������ ��	
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��	 ������������������������
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�3� V.
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/��������� $� ����	�� V, ����� A, 8 A, 8 A, 20 A, 10 A]
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/������������$�����������$�������	������������]
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